0.10 < ¢* < 0.98 GeV?/ct

1.1 < ¢? < 2.0GeV?/c*

2.0 < ¢? < 3.0GeV?/c?

3.0 < ¢ <4.0GeV?/ct

P —0.038 T0:127 £ 0.020 0.439 71515 £0.012 0.055 T0-920 +0.007 0.421 71%35 £0.018
P, —0.119 19089 4 0.063 —0.667 19539 £ 0.017 —0.323 70317 +£0.033 —0.117 79452 £ 0.015
Py 0.147 +9:986 4 0.005 0.363 5988 4 0.001 0.005+9-362 4 0.012 0.905 737524 £ 0.009
A 0.086 £5:228 +0.026 0.266 555 + 0.057 ~0.765 £0:3%5 + 0.099 —0.134 79819 £ 0.108
Pl 0.300 *9-178 +0.023 0.606 70759 +0.017 0.461 7533 +0.019 —0.295 79598 +0.023
P} 0.086 +9:152 4 0.024 —0.632 70337 +0.009 —0.549 19276 4 0.005 0.449 73%0% £ 0.007
P 0.143 9192 4 0.022 —0.244 10433 4 0.012 —0.39319-332 4 0.002 0.303 73:3% £ 0.006
4.0 < ¢ < 5.0GeV?/ct 5.0 < ¢2 < 6.0GeV?/c? 6.0 < ¢2 < 7.0GeV?/c? 7.0 < ¢? < 8.0GeVZ/c?
Py 2.296 THTIL 4+ 0.024 —0.540 T9-%21 4+ 0.025 —0.353 70859 4+ 0.026 —0.284 70213 +0.025
P, 0.174 3938 +£0.010 0.089 *0-327 +0.012 0.104 79138 +0.013 0.393 70231 +0.013
Py —0.801 9:221 +0.007 0.178 £3-35° + 0.007 —0.161+3-23% 4+ 0.001 —0.063 *3-234 4+ 0.002
P; —0.415 19838 1 0.104 —0.561 70482 £0.101 —0.64175:222 +0.106 —0.503 70:332 £ 0.118
—0.799 t?;?g +0.022 —0.197 tg;ggz +0.018 —0.713 tg;;g_g +0.015 —0.808 tg;ggg +0.010
" -0.21519-397 + 0.006 0.074 +3-3%9 4+ 0.005 0.017 £3-257 + 0.007 ~0.201 75,57 & 0.007
P 0.293 +1-322 4 0.006 —0.068 79338 4+ 0.006 0.162 79252 + 0.005 —0.623 70352 £ 0.005
11.0 < ¢> < 11.75GeV2 /et 11.75 < ¢ < 12.5GeV2 /e 15.0 < 2 < 16.0GeVZ /et 16.0 < ¢% < 17.0 GeV?/c*
P —0.869 3304 4 0.030 —1.002 ¥9-352 4 0.030 —0.199 T0-280 +0.014 —0.726 73239 +0.014
Py 0.494 9131 4 0.013 0.637 £9-299 4+ 0.008 0.433 79974 4 0.005 0.430 70:0% £ 0.007
Py 0.166 9755 + 0.005 —0.105 9437 +0.004 0.087 £0-132 +0.007 0.019 70122 + 0.006
P; —0.522 70295 +-0.128 —0.701 70215 +0.114 —0.673 10178 +0.013 —0.552 70291 +0.055
P —0.485 70293 +0.028 —0.827 70295 4+ (.026 —0.758 70195 +0.013 —0.567 T0 157 +0.014
P —0.233 tg;;gz +0.004 —0.473 1923 +0.004 0.083 tg;;g? +0.004 0.328 70192 + 0.012
4 —0.159 19228 + 0.007 —0.211 322 4 0.007 —0.120 79192 4+ 0.010 0.122 79159 4 0.010
17.0 < ¢ < 18.0GeV? /et 18.0 < ¢ <19.0GeVZ /et 15.0 < ¢ < 19.0GeV?/c?
P —0.31310:355 £ 0.019 —0.450 19442 £ 0.022 —0.424 70135 + 0.028
P, 0.288 *9-97° 4 0.006 0.393 70150 +0.011 0.385 £0-93° +0.010
Py 0.144 70149 4+ 0.002 0.134 70219 +0.010 0.089 T0-07} +0.019
A —0.486 10500 & 0.092 ~1.221 755+ 0,119 ~0.663 %5162 + 0.055
P} —0.646 T0176 4+ 0.027 —~1.070 *3-237 4 0.029 —0.709 73955 +0.016
P} 0.047 15198 +0.023 0.128 75:248 +0.012 0.140 £0-108 +0.032
4 —0.006 10332 4 0.001 0.300£5:297 4+ 0.022 0.049 79106 + 0.021




